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I) A) Find the absolute maximum and minimum values of f(z) = 12 +4z — 22 for z € [0, 5]
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B) Compute the area of the triangle determined by the points A(1,2,3), B(2,1,3) and

C(3,1,2).
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C) Show that cosh? z — sinh?z = 1.
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D) Let f(z) = (z-12 | z>1
2 y T=1

i) Find lnn f(z) and lim f(z).
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ii) Does lii)n1 f(x) exist? Justify your answer.
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iii) Is f continuous at z = 1?7 Justify your answer.
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i) Plot z in a system of coordinates.  0™%

E) Let z=1+4

ii) Compute |z|, Z and 22.
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iii) Write z in polar form.
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Differentiato the following functions:
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of equations
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B) Use Cramer’s method to find y (only y) for the system
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V) Let f(z) =

1) Find the domain of f.

ii) Find the z-intercepts and the y-intercepts (if any).

iii) Find the horizontal asymptotes (if any).

iv) Find the vertical asymptotes (if any).

v) Find the intervals on which f is increasing and the intervals on which f is decreasing.
)

vi) Find the local minimum and the local maximum values (if any).
vii) Sketch the graph of f.
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